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Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 512452996
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 51245217151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The functional components of a database system can be divided into:

1. Storage Manager
2. Query Manager

3. Both (1) and (2)

4. None of the above

Options :

51245255403. 1
51245255404. 2
51245255405. 3
51245255406. 4

Question Number : 2 Question Id : 51245217152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The component(s) of Storage Manager is/are

1. Authorization and Integrity Manager
2. Transaction Manager and File Manager
3. Buffer Manager

4. All of the above

Options :
51245255407. 1
51245255408. 2



51245255409. 3
51245255410. 4

Question Number : 3 Question Id : 51245217153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The component that tests for the satisfaction of integrity constraints and checks the authority

of users to access data is

1. Authorization and Integration Manager
2. Transaction Manager

3. File Manager

4. Buffer Manager

Options :

51245255411. 1
51245255412. 2
51245255413.3
51245255414. 4

Question Number : 4 Question Id : 51245217154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

DDL Interpreter, DML Compiler and Query Evaluation Engine are the components of

1. File Manager

2. Query Processor

3. Transaction Manager
4. None of the above

Options :

51245255415. 1
51245255416.2
51245255417.3
51245255418. 4



Question Number : 5 Question Id : 51245217155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Data structures implemented by the Storage Manager are

1. Data Files

2. Data Dictionary
3. Indices

4. All of the above

Options :

51245255419. 1
51245255420. 2
51245255421.3
51245255422. 4

Question Number : 6 Question Id : 51245217156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The database that contains the original source data or full text of original source material is
called as

1. Reference Database

2. Multimedia Database
3. Source Database

4. Bibliographic Database

Options :

51245255423. 1
51245255424.2
51245255425.3
51245255426. 4



Question Number : 7 Question Id : 51245217157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The databases that consist of records with basic descriptive information about the items
(Books, Journals, Theses) are called as

1. Numeric database
2. Software database
3. Full-text database
4. Bibliographic database

Options :

51245255427. 1
51245255428. 2
51245255429.3
51245255430. 4

Question Number : 8 Question Id : 51245217158 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ER Model was developed by

1. Chung
2. Chen

3. Chei

4. Choung

Options :

51245255431. 1
51245255432. 2
51245255433.3
51245255434. 4

Question Number : 9 Question Id : 51245217159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

The characteristic of an entity is called as

1. Value

2. Record

3. Data Element
4. Attribute

Options :

51245255435. 1
51245255436. 2
51245255437. 3
51245255438. 4

Question Number : 10 Question Id : 51245217160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Employee, Student, Programmes, Courses etc., are the examples of

1. Cardinality

2. Relationships
3. Entities

4. Attributes

Options :

51245255439. 1
51245255440. 2
51245255441. 3
51245255442. 4

Question Number : 11 Question Id : 51245217161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



MySQL supports a number of SQL data types like

1. Numeric

2. Date and Time
3. String

4, All of the above

Options :

51245255443. 1
51245255444.2
51245255445. 3
51245255446. 4

Question Number : 12 Question Id : 51245217162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

INTEGER, SMALLINT, DECIMAL, NUMERIC comes under the datatype

1. String

2. Enum

3. Exact Numeric
4, Character

Options :

51245255447. 1
51245255448.2
51245255449. 3
51245255450. 4

Question Number : 13 Question Id : 51245217163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The datatype that is used for values that contain both date and time parts is

1. Date

2. DateTime

3. Timestamp

4, None of the above

Options :

51245255451. 1
51245255452.2
51245255453. 3
51245255454. 4

Question Number : 14 Question Id : 51245217164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

A. SPARQL|l. Web Protocol

B. RDF . Identifier

C. URI lll. Data Model
D.HTTP |IV. Query Language

Choose the correct answer from the options given below:

TLA-N,B-I,C-I,D-IV
2A-Il,B-1,C-IV,D-1l
3A-II,B-IV,C-1,D-1l
4. A-IV,B-Il,C-II,D-1

Options :
51245255455. 1
51245255456. 2



51245255457.3
51245255458. 4

Question Number : 15 Question Id : 51245217165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is VIAF?

1. LOD of name authority data

2. LOD of subject authority data

3. LOD of name and subject authority data
4. None of the above

Options :

51245255459. 1
51245255460. 2
51245255461. 3
51245255462. 4

Question Number : 16 Question Id : 51245217166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is SPARQL?

1. System Protocol and RDF Query Language

2. SPARQL Protocol and Remote Query Language
3. SPARQL Protocol and RDF Query Language

4. SPARQL Protocol and RDF Query Layout

Options :

51245255463. 1
51245255464.2
51245255465. 3
51245255466. 4



Question Number : 17 Question Id : 51245217167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

A VIAF |1l ANSI/NISO

B. RDF |Il. LIBRARY OF CONGRESS
C. LCNAF [, W3C

D. Z39.50(IV. OCLC

Choose the correct answer from the options given below:

1T.A-I,B-II,C-lI,D-IV
ZA-II,B-N,C-IV,D-1
3A-Il,B-LLC-IV,D-1l
4. A-IV,B-Il,C-II,D-1

Options :

51245255467. 1
51245255468. 2
51245255469. 3
51245255470. 4

Question Number : 18 Question Id : 51245217168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a NOT true for LOD?

1. Applies URIs as names for things

2. Uses HTTP URIs to up those names

3. Applies RDF and SPAQL as data model and query language respectively
4. LOD is meant for libraries



Options :

51245255471. 1
51245255472. 2
51245255473. 3
51245255474. 4

Question Number : 19 Question Id : 51245217169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List 11

A. Kohazon . Biographies in Wiki platform

B. LibraryLookUp|ll. Google maps integration with happy hours finder
C. Unthirsty lll. Google maps integration with Library discovery
D. WikiBios IV. Amazon integration with Koha

Choose the correct answer from the options given below:

TLA-NI,B-I,C-I,D-IV
2A-Il,B-1,C-IV,D-1Il
3A-II,B-IV,C-1,D-1l
4A-IV,B-1IL,C-1,D-1

Options :

51245255475. 1
51245255476. 2
512452554717.3
51245255478. 4

Question Number : 20 Question Id : 51245217170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What is a widget?

1. A script combining HTML and Java to access a web service

2. A gateway to scholarly resources

3. A technique to access web services for differently-abled persons
4. None of the above

Options :

51245255479. 1
51245255480. 2
51245255481. 3
51245255482. 4

Question Number : 21 Question Id : 51245217171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange as per the difficulty level (simple to complex)

A. Data mashup

B. Presentation mashup

C. Process mashup

Choose the correct answer from the options given below

1. A B C
2B AC
3ACEB
4 C A B

Options :
51245255483. 1
51245255484.2



51245255485.3
51245255486. 4

Question Number : 22 Question Id : 51245217172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

A. RSS . Data mashup

B. Widget Il. Presentation mashup
C. OAI/PMH lll. Process mashup

D. Programmable Web|IV. Mashup Directory

Choose the correct answer from the options given below:

1LA-LEB-ILC-IILD-IV
ZA-ILB-NILC-IV,D-|
3A-IILB-L,C-IV,D-1l
4. A-IV,B-Il,C-II,D-1

Options :

51245255487. 1
51245255488. 2
51245255489. 3
51245255490. 4

Question Number : 23 Question Id : 51245217173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Information mashup is

1. Remixing of data

2. Regeneration of data
3. Reproduction of data
4. None of the above

Options :

51245255491. 1
51245255492.2
51245255493. 3
51245255494. 4

Question Number : 24 Question Id : 51245217174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is true?

1. Unicode is a 2-Byte code
2. ASCll is a 1-Byte code
3. ISCll is a 2-Byte code
4. EBCDIC is a 1-Byte code

Options :

51245255495. 1
51245255496. 2
51245255497. 3
51245255498. 4

Question Number : 25 Question Id : 51245217175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List Il
A. Brahmi |l Indo-European language
B. Oriya II. Script for Maithili

C. Malayalami|lll. Origin of all Indic scripts

D. Devnagri |IV. Dravidian language

Choose the correct answer from the options given below:

1.A-1,B-1II,C-lll,D-1V
ZA-1,B-l,C-II,D-IV
3A-IILB-LC-IV,D-1
4 A-IV,B-IIILC-Il,D-1

Options :

51245255499. 1
51245255500. 2
51245255501. 3
51245255502. 4

Question Number : 26 Question Id : 51245217176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Header mode,

1. *a is converted to a semicolon and space
2. ™a is converted to a semicolon

3. “a is converted to a colon and space

4. *a is converted to a semicolon and hash

Options :
51245255503. 1



51245255504. 2
51245255505. 3
51245255506. 4

Question Number : 27 Question Id : 51245217177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is correct?

1. The indentation command is coded (f.c) or (c)

(

(f.c) or (f)
(f.d) or ()
(

4. The indentation command is coded (c,f) or (c)

2. The indentation command is coded
3. The indentation command is coded

Options :

51245255507. 1
51245255508. 2
51245255509. 3
51245255510. 4

Question Number : 28 Question Id : 51245217178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is correct?

1. A twip is a twentieth of a point and a point is 1/72 of an inch.
2. A twip is a twentieth of a point and a point is 1/720 of an inch.
3. A twip is a twentieth of a point and a point is 1/172 of an inch.
4. A twip is a twentieth of a point and a point is 1/7 of an inch.

Options :

51245255511. 1
51245255512. 2
51245255513.3



51245255514. 4

Question Number : 29 Question Id : 51245217179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List I

Pick-list command|Related to

A. add . users may pick more than one item from the list

B. files ll. prevents the user from entering data values

C. notype l1l. each line will be considered as a file name

D. multi IV. new selected items’ text will be added to the text already in the field

Choose the correct answer from the options given below:

T.A-lH,B-i,C-1,D-1IV
2ZA-lIl,B-1,C-IV,D -1l
3A-1LB-1LC-1V,D-1lI
4 A-IV,B-IILC-Il,D -1

Options :

51245255515. 1
51245255516.2
51245255517.3
51245255518. 4

Question Number : 30 Question Id : 51245217180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What is firstdescribe in pick-list?

1. The first is what will be really inserted in the field. The second is what the user sees on the
list

2. The first is what the user sees on the list. The second is what it qualifies the first one

3. The first is what the user sees on the list. The second is what it will be really inserted in the
field

4. Both the first and the second will be really inserted in the field

Options :

51245255519. 1
51245255520.2
51245255521.3
51245255522. 4

Question Number : 31 Question Id : 51245217181 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT true for a pick-list?

1. Helps in bibliographic data entry standardization

2. Helps in reducing time and labour of the cataloguer
3. Helps to support standard coded values

4. Helps to support database administration

Options :

51245255523 1
51245255524.2
51245255525.3
51245255526. 4

Question Number : 32 Question Id : 51245217182 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il
Language Language Code
4. English l. eng

B. Hindi Il. kan

C. Kanada Il. asm

D. Assamese IV. hin

Choose the correct answer from the options given below:

1.A-LB-1I,C-ll,D-1V
2ZA-1,B-IV,C-ll,D-1l
3A-lIL,B-l,C-IV,D-1
4 A-ILB-1,C-IV,D-1lI

Options :

51245255527 1
51245255528. 2
51245255529. 3
51245255530. 4

Question Number : 33 Question Id : 51245217183 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is NOANSI option in pick-list?

1. Consider the text produced by the format as a DOS text and perform the conversion

2. Consider the text produced by the format as an ASCII text and perform the conversion
3. Consider the text produced by the format as a Unicode text and perform the conversion
4. Consider the text produced by the format as a Unix text and performs the conversion

Options :



51245255531. 1
51245255532. 2
51245255533.3
51245255534. 4

Question Number : 34 Question Id : 51245217184 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

hMatch List | with List 11

List | List I

Worksheet Validation Related to:

A. Default Value . Coded value management

B. Help Il. Data entry erroneous

C. Validation lll. Help in managing sub-field data
D. Pick-list definition V. Automatic data values

Choose the correct answer from the options given below:

T.A-lH,B-I,C-1,D-1IV
2ZA-IILB-1,C-IV,D-1
3A-1,B-I,C-1IV,D-1l
4 A-IV,B-IIL,LC-IL,D-I

Options :

51245255535. 1
51245255536. 2
51245255537.3
51245255538. 4

Question Number : 35 Question Id : 51245217185 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How many field types are supported in WINISIS?

1.5
2 4
3.3
4.10

Options :

51245255539. 1
51245255540.2
51245255541. 3
51245255542. 4

Question Number : 36 Question Id : 51245217186 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Pattern declaration, 9 indicates that:

1. The position must contain a numeric character

2. The position must contain an alphanumeric character

3. The position must contain an alphabet

4. The position must contain 9 Byte long data in alphanumeric character

Options :

51245255543 1
51245255544.2
51245255545.3
51245255546. 4

Question Number : 37 Question Id : 51245217187 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List 1l

A. Default field value|l. FDT

B. Pattern l. F5T

C. Data Export I1l. Subfield
D. * Symbol V. 1ISO-2709

Choose the correct answer from the options given below:

1.A-1,B-1II,C-lll,D-1V
2ZA-ILB-1ILC-IV,D-I
3A-IILB-LC-IV,D-1l
4 A-Il,B-1,C-1V,D-1l

Options :

51245255547. 1
51245255548.2
51245255549. 3
51245255550. 4

Question Number : 38 Question Id : 51245217188 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following entries is correct for the pattern declaration 99-999/AA?

1. 88-67-9/CC
2. 8-679/CC
3. 88-679/CC
4, 8-679/55

Options :
51245255551. 1



51245255552. 2
51245255553.3
51245255554. 4

Question Number : 39 Question Id : 51245217189 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is the parameter in syspar.par for Redirection?

1. Parameter 102
2. Parameter 104
3. Parameter 14
4. Parameter 0

Options :

51245255555. 1
51245255556.2
51245255557. 3
51245255558. 4

Question Number : 40 Question Id : 51245217190 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements related to steps in WINISIS is true?

1. FOT == FST => PFT »> Worksheet
2. FOT »> Worksheet > > FST >=> PFT
3. FOT >> Worksheet > > PFT > > FST
4. FDT == PFT == FST »> Worksheet

Options :

51245255559. 1
51245255560. 2
51245255561. 3



51245255562. 4

Question Number : 41 Question Id : 51245217191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the maximum number of records in a database in WINISIS?

1. 16 millions

2. 16 lakhs

3. 16 thousands
4. 16 crores

Options :

51245255563. 1
51245255564. 2
51245255565. 3
51245255566. 4

Question Number : 42 Question Id : 51245217192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List I

A. Field 015(1. Physical medium

B. Field 050|ll. Agency code

C. Field 040|lll. Language code

D. Field 020|IV. Bibliographic level

Choose the correct answer from the options given below:

TA-II,B-I,C-1,D-1IV
ZA-lll,B-l,C-IV,D-Il
3A-IV,B-LLC-lIl,D-1
4 A-IV,B-lIl,C-Il,D-1

Options :

51245255567. 1
51245255568. 2
51245255569. 3
51245255570. 4

Question Number : 43 Question Id : 51245217193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is the Field for Physical Description in CCF?

1. Field 400
2. Field 460
3. Field 480
4. Field 490

Options :
51245255571. 1



51245255572. 2
51245255573.3
51245255574. 4

Sub-Section Number : 2
Sub-Section Id : 512452997
Yes

Question Shuffling Allowed :

Question Number : 44 Question Id : 51245217194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Both CCF/B and CCF/F can be implemented in WINISIS.

1. True
2. False

Options :
51245255575. 1
51245255576. 2

Sub-Section Number : 3
Sub-Section Id : 512452998
Yes

Question Shuffling Allowed :

Question Number : 45 Question Id : 51245217195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A document in Hindi should be encoded in 040 tag of CCF as:

1. @Ahin
@Ahin@Bja
@Ahin@Bza

e P

@Aben@Bja

Options :
51245255577. 1
51245255578. 2



51245255579. 3
51245255580. 4

Question Number : 46 Question Id : 51245217196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the correct data entry to encode 022 field in CCF/B?

1. 10@A20140222
2. 10@A0222

3. 10@A22022014
4. 10@A02222014

Options :

51245255581. 1
51245255582. 2
51245255583.3
51245255584. 4

Question Number : 47 Question Id : 51245217197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In WINISIS, during export, the default output line length is:

1. 80
2. 70
3. 800
4. 700

Options :

51245255585. 1
51245255586.2
51245255587. 3
51245255588. 4



Sub-Section Number : 4
Sub-Section Id : 512452999
Question Shuffling Allowed : Yes

Question Number : 48 Question Id : 51245217198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The stopword file may have any name as the database and with the file extension stw.

1. True
2. False

Options :
51245255589. 1
51245255590. 2

Question Number : 49 Question Id : 51245217199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CDS/ISIS allows both free-text searching and inverted file based searching.

1. True
2. False

Options :
51245255591. 1
51245255592. 2

Question Number : 50 Question Id : 51245217200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If a repeatable prefix-literal is immediately followed by a “+" sign (e.g. |0+ ) it will be output
after all but the last occurrence of the field.

1. True
2. False

Options :
51245255593. 1
51245255594. 2



